(1) 2¥ (4) 74A] ©] 1o mo] 2] A €]
TS BIloA 22t Az 712 s
#et.

o
=
_]

[a|
(571

Q@ x-4=0 © 2x+8=0

® 2y+8=0 ® —y+4=0

B
2
B
2
B
=
Qe
=

(4)

®

By

@)



2. e 5 A% i WA £4) ghe AL

@ V21+3<V19-4
© V19- V5> V15 - V7
© VI5+4+3> V15 +2

ONQ) GN®) ® 00
® O, ® ,0,0






& Wk x ohy o gel 7kl ¢ 3¢

l

=



® 4




ohg 9o BE AAZY )
ole] @} Wolsk 22 At
g o] 7hzo] Zo|ot A2
ol o] A5 atelet (¢, 2

Jo]of A 2}2 ol Wit

NN

e
=%

~

L= s

1 1
)

1 1
)

1 1
)



ol ofl ot

U e

v

o]9} ghéo]7k 24k Weolzl 5 A Go] glek. FAlo] nhER

ol= A% 5km, $E0l= Al 3km = AojA =F
o7F A2 A€ Tkt

= km

fdeess

o



8. #Fy=rf)lA f(x) =-2x+12 d, f(-1)+ f(1) & F= st
ofet,

B
=¥



o
ol

2x2—ax—2a =

HAA

oY

9.

(F, a>0)

@ 2 ® 3

1



teiet.

S

OIAPY A ¥ -8x—3+a =07t T2 A =Fa o e 7

10.



